I need the following three questions answered. Please try to associate each scenario with real-world examples.

1. Explain what could cause a shift in the short run Average Cost curve from SAC1 to SAC3. Does this scenario apply to products made by your firm?

 
Figure 1:  short run average cost curves

 

2. Discuss the differences in following three Long Run Average Cost Curves (LRAC). Use the appropriate economic terminology. What is the shape of your company’s present LRAC? LRAC? Explain. 

Figure 2: long run average cost curves
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3.  What policies could cause the shift from A to B.  Which curve has the largest income inequality?
Describe income redistribution programs in your state.

Figure 3: lorenz curves
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